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1. w
ritebase(n/8)

7. putchar(n%
8)

2. w
ritebase(n/8)

3. w
ritebase(n/8)

6. putchar(n%
8)

5. putchar(n%
8)

4. return

’5’ output third

’1’ output first

’3’ output second

w
ritebase(93)

93

93/8 =
=

 11

11/8 =
=

 1

1/8 =
=

 0

93%
8

 =
=

 5

11%
8

  =
=

 3

1%
8

 =
=

 1

93 in base 8 is  135 =
 1 * 8   +

  3 * 8  +
 5

2

O
perations above are perform

ed in the order 1, 2, 3, 4, 5, 6, 7

void w
ritebase(int n)

{       if (n !=
 0) {

w
ritebase(n/8);

putchar((n%
8) +

 ’0’);
}

C
S

 1723, W
ritin

g
 to

 b
ase 8

}


